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Fill in the blanks
anpoadu iyaindha vazhakkenpa aaruyirkku

nanpu ennum naadaach chirappu
iputraar eidhum chirappu
maraththirkum aqdhae thunai

. enpoatu iyaindha thodarpu

e. Answer not known

Camgl L &L Hmd HIFys
SIHIBUTH Bwhd aupdH6del SLHUNTESG

an o

[HEWIL|6TEITENILD [BTLTE ML
STBMTT eTUISID FBLIL
IOBSHBSL o165 Hiement
a1eiGuT(h QemWibs OSHTL T
alewL G flwalsvenev

o an o

araththirkae anpusaar penpa ariyaar

maraththirkum agdhae thunai

In this kural the term maram means

a. anbu b. veeram c. Por
d. theeram e. Answer not known

OIBSHHMBCs ST FTT GueTu SSlumiT

BHIBSHD 9.8 Hlenewt
B dHGHmeNled aUHD BLD 616 GFTeLeVET OLUIT(HET WITgI?

a. OGN b. &fyb c. Gum
d. &y e. alewL Oxflwalsveney

Agathil anbu illamal vazhum uyir vazhkai valamatra palai nilathil

thalirthar pondradhu

a. patchai maram b. patta maram C. panai maram

d. None of these e. Answer not known
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DIBHHL DI EGOELTIDED GUTIPD 2 UlT UTLDSHMS 6UETLOHBMB  LITEN6VHI608H 360
SHeMiTHHTB CuUTSIBS

a. uUFemgF LOJID b. ul Ly C. LI6MET LDJLD

d. @meu gHIOeLMm6D e. alenL Oxflwalsvenev

Which are the ornaments of man?

a. Sweetness of speech, against vain speaking
b. Humility and sweetness of speech

c. Hospitality, sweetness of speech
d.Hospitality, against vain speaking

e. Answer not known

DHOUDIDE SIWNHEVNTS DleNLOeUH 61517
a. ®6FTe0, LWefed GFTE06VTEMLD

b. uewfleyenL_enip, B&@IGFTEL

c. allmbHGHTDUED, @eTOFTeD

d. almiEGsHTbLed, Lwefled GFTebeLTENLD

e. alewL  Gxflwealedensn

allavai theya aRamperukum nallavai
naadi iniya

a. pira b. aram C. perin
d. solin e. Answer not known

Sleevenal GHWl DIBLOOILIHGLD HELEVENE!

BTy Qe

a. s b. @mid C. Qupsiesr
d. Gameles e. alewL Oxflwaisvenev

According to Valluvar pleasant words are those imbued with

a. Love, free from deceit, honest

b. Love, honest

c. Love, virtuous, free from deceit

d.Love, virtuous, honest

e. Answer not known

QUGTEHAT FnMBMleiiLy BTOFTED 6ITLSHT QLIT(HET WITdHI?

a. |6 SH6VHHBHTHALD, 6UEhTFMETUIBBHTHELD, GUTUIENLOU|6WL_ULISHTHELD
SlenOU|D GFT60.

b. &6 BVHSHHTHOD, QUTUIGHLOUENL UISTHAD SeNIDU|D GFT6V.

C. O] HVHSIHTHAD, DIB(POL WSTHALD, 6UEHFMDNMBBSTHLD  HIGNLOU|LD
O&mev.

d. 961 SUHHHTHOID, DB WISHTEHAD, GUTUILOUIDL UIHTHA|D  SIEHLOULD
Gl&TeL.

e. alenL  GFfwealedenso
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10.

11.

For whom poverty will be no more?

a. Those who like hospitality b. Those who speak pleasant words
c. Those who love d. Those who seek virtue

e. Answer not known

WIT(Heb@& umIenLD &6060De0 GUIT@GHLD?

a. allmphHGHTDLIEL @l(HLOLLIAI(HESG) b. @eai0smed CuUaLIIHGHE,

C. et enL CuimTah@, d. op BEIGHCMTTHE

e. alewL OFMwalevemen

The compound interest on Rs. 3,000 for 3 years at 10% per annum
Compounded annually is

a. Rs. 900 b. Rs. 933 c. Rs. 963

d. Rs. 993 e. Answer not known

. 3,000 5&F 10% ewih a'lp aiHHHed 3 BB EHHESH, eTHEHOHT(TH
(WD QUL LY SIS LILLLTED HenLbGH Fal (B eully

a. . 900 b. . 933 C. eb. 963

d. em. 993 e. alenL O fluialebenso

Find the sum which amounts to Rs.2,662 at 10 % p.a. in 3 years,
compounded yearly.

a. Rs.1,500 b. Rs. 1,800 c. Rs. 2,000

d. Rs. 2,500 e. Answer not known

10 % o el iguiled, SUIBHEG @@ (PedB QU lg HeTHHL LU LT, 3
NI (BH6MNED 61hGEH DIFEOTIH! (52,662 OHTENHWITGLD.

a. Rs.1,500 b. Rs. 1,800 c. Rs. 2,000

d. Rs. 2,500 e. alewL Gxfwalsvensv

Find out the compound interest of Rs.5000 for 2 years at 6% per annum.

a. Rs.681 b. Rs.618 ¢.Rs.600 d.Rs.1200 e. Answer not known
h.50005@, 2 UWIH HTeHHeL ewihdbG 6 FHaH DlgliLienLuled Tnl (B
QI 1gemusd HenT(BLIIGSHHAD?

a. Rs.681 b. Rs.618 ¢.Rs.600 d.Rs.1200 e. alen. Gsfluwialedenso

Country where cattle herders take care of those

who travel, sharing sweet tamarind rice kept in

tubes tied on young bulls, serving them on teak

leaves for their hunger and stuffed ears to end.

This agananooru song is an example for

a. Hospitality b. The Utterance of Pleasant words
c. Against vain speaking d. None of these

e. Answer not known
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12.

13.
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Gameuevi
wpalemL L1 LUl GTSUIS SHlbLermF
CFalomL HTH CHbslemevll LGDHEGHLD

116060 [H6UMBTL L
6160 DISBTOMNBHBIL UTL 60 61HBEG 1BSHHISBTL LTS DIHLHSHIGT6NSHI?
a. almEHTLDLIGY b. Baflwemeidhansed C. LUweied GFTELEVTEmLD

d. ®aumbniled eHIOe0m6V e. alenL O flwealsveneo

According to Ilangovadigal which one of the following is ‘the habit of
ancestors glory’?

a. Virtue b. Love c. Non possession

d. Hospitality e. Answer not known

BemmIBaTaugHer ‘OHTe0CeomT FHpUidler’ eler eTHement HLOPTeT  CHTeTemLOUITET
LIPS BLOTS  aBISIBTIT?

a. SIBET EUEIILBISHBH b. siseL e C. &Iney

d. elmHGHTIDLIGY e. alewL Oxflwaisvenev

Is it necessary to sow the field of the man who, having feasted his guests,
eats what may remain? - Which among the following Kural explains the
above meaning?
a. Who first regales his guest, and then himself supplies,
O'er all his fields, unsown, shall plenteous harvests rise
b. All household cares and course of daily life have this in view
Guests to receive with courtesy, and kindly acts to do
c. To reckon up the fruit of kindly deeds were all in vain;
Their worth is as the worth of guests you entertain
d.With smiling face he entertains each virtuous guest,
'Fortune' with gladsome mind shall in his dwelling rest

e. Answer not known

Al BGHE ubd al(phHaen] (PpHedsd 2 _amie o euend OFuIgH e o e

o eWILIITHNG BHlevsHHev alendhdamoBeo LuliTalenemubd

- @zmer Lleaubd 6hd GHmerller eufllGu sipflueomid

a. “elgzd @Led Geuamid GaTedGeom al(HHGHTLOL
OFF 60 LOMFUTET L|6V6IT

b. BmHGsML @evaumper G eveomd alHHCHTIDLY
Gouenmenitento GFUWISH GUTHL (B

C. Bmadhplmend CHaIOHTE MleDened all(Hibl 6
SlenewiHHlenent Gaueallll Liuiest

d. omeanoibha CFUILTET 2 MBUD (LPHEIDTHS
beval(hbgl @LOLjeuT6HT E6d

e. alomL Oxflualsdened




14.

15.

16.

17.

18.

In which one of the following animal the polytene chromosomes were
discovered for the first time?
a. Fruit fly b. Drosophila c. Chironomous

d. Housefly e. Answer not known

Q115%:5] o ulflendgle0 (LPSH6IT (LP&H6VI6D LIT6Vllo 63T &CrmGLom@Gamibaselt
STl Bl L g&1?

a. upy gl b. 19@ymBamenLicvT C. am&@ymeonTLDeN

d. ol w e. alewL Oz flweaisvenev

Holandric genes are called

a. Carried by X chromosomes

b. Carried by autosomes

c. Carried by different parts of Y Chromosomes

d. Carried by X and Y Chromosomes

e. Answer not known

Gammeureni M o3eiidHeiT 616G DGLD.

a. X @CymGonGambsented GFweOLIGSHSLILBGHBSI.

b. o' GL1@gmbsmenmed GFWIOLIBGSHSHILBAMBSI

c. uebBeaup LGFHHeaiev o aitenm Y GCITCLTGsTILH6MTEL OFWIOLIGSHSLILIGS MBS
d. X iopmid Y @Gym@on@amibsented OFuweOLIBGSHSILIGHBSI

The World’s First Malaria Vaccine is

a. Mosquirix b. Bedaquiline c. Clofazimine

d. Cycloserine e. Answer not known

o eualar (PFHev WGuflwngd HBUILT

a. LeNGflder b. GuLTEmeve C. &GenmumddlenLpest

d. engsGenmOafler e. alemL O fuwealsdenso

In the year 1931 which country did Periyar visit?

a. China b. Russia c. Singapore
d. Australia e. Answer not known

1931 — b gewi® QuflwnT ebhs BILYBEG aluid QEFUISHTT?

a. &eonm b. yaguwir C. FmisliyT
d. eLedvgGreduwim e. alenL OFHfuialedensv

Find the difference in C.I and S.I for P =% 8000, r =5% p.a, n=3

a.< 81 b.% 61 c.3 41

d.< 20 e. Answer not known
S Ul 19HGD Tl B U 19hGD Bl Cuiuleien alGHHUWTFHNHDH HTEwIH.
P =% 8000, syewi® euly aisd = 5% , n=3 a6l
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19.

20.

21.

22.

a.% 81 b.% 61 c.3 41
d.<X 20 e. alew QFHfwaledensv

The Population of a village grows by r% every year. In 2 years the
population increases from 10000 to 11025. Then r is

a.b b.3.5 c.2.5 d.1.5 e. Answer not known

R HITDSHeT  IDbB6T OHTend UWIH @Em % oisd FHre  gnigdh
CaTewi® OFe0FBEH. 2 SuewiBHelled WdHHaTCHTenEd 10000 HHHHEH 11025
OF DSHBMNHDIGNENH. 6160160 T 6161166167

a.b b.3.5 c.2.5 d.1.5 e. alewL G fwalevenev

A sum of money placed at C.I. doubles itself in 5 years. It will amount to
eight times itself at the same rate of interest in years

a.b5 b. 10 c.15 d. 20 e. Answer not known

b OaTmdmw gl (B eaullguisd WHeSH OCFUIsTed 5 uamihHelled &
L RISTHBH. DIFH  adHHmer  ewihdeiled, 9I6xh allly aihHHeO ol (B
LDL_MISTGLD?

a.b b. 10 c.15 d. 20 e. alew G fwaisvenev

Which one among the given facts was the primary reason for E.V.
Ramaswami to quit Indian National Congress?

a. Conflict with M.K. Gandhi

b. Crisis in Vaikom

c. Congress ideology

d. Communal disparity in Congress

e. Answer not known

F.Gou. @pmogmdl @bHw  CxFw  sThmHIHmHEH  OeuellCuplusBE@ S
QAUHSHI6TEN  HTTeRIMIH6NED (LPHITEnLIOWITEISH 6157

Gom.s. STHSHUL6oITeT (LJewTLIT(h

MEUSBLOD HBHSH FldbdHev

STRIBTHI & ([HSHH IO

. HTRIFTF60 Fepd alHHWITFLD

alewL G fluealsbenev

o oo o

Who was elected as the President of the Madras Congress Committee in|
19227
a. Rajaji b. Kamaraj c. EV Ramaswamy

d. Sathyamoorthy e. Answer not known

1922-b  &yewilh wnt  OFelement  SMREISIF0 SO IQUIET  HEDELAUTTSH
CahOIHBH&&LILLLTT?

a. gmegTey) b. smoyme) c. E.V. gmwgmd

d. FdweprsHd) e. alenL O fwialedenso
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23.

24.

Match the following;:

A. The communal GO 1.1924

B. The Staff Selection Board 2.1922

C. State Aid to industries Act 3.1929

D. Annamalai University established 4.1921
A B C D

a. 3 4 1 2

b. 4 2 3 1

c. 1 2 3 4

d. 4 1 2 3

e. Answer not known

SIS UBenB  OILIT(HHDHIH.

A. 8L @31650H DITFTENIH6N 1.1924

B. uemilwiment Gaiteysds sHLpHID 2.1922

C. gppgmhis OamhBsTenevseT o $alF FULID 3.1929

D. ojemienimioensv LIs0&HmevdH HIPHID GIHTL SHaBbID 4.1921

A B C D

a 3 4 1 2
b. 4 2 3 1
c. 1 2 3 4
d 4 1 2 3
e. alewL GFTwaledenso

Pick out the wrong statement about the justice party

1. The precursor of the justice party was the Madras United league.

2. In 1917 the South Indian Liberal federation was founded

3. The South Indian liberal federation published an Tamil Newspaper

called justice.
4. In 1944 the justice party conference was held in Salem
a. 1 only b. 2 and 3 only c.1and 4 only
d. 3 and 4 only e. Answer not known

ﬁﬂasasl_aﬂ UBSIu HeUBTeT FaBedM G IQHBTL L QLD.
ﬁ@asasLaﬂuj]m (peiBeutmly OFGiTENed GBIl HLPHLDTGLD.

2. 1917 o Sewip OFHaiialbHw Hev o Mewiod FmisD
CxrTBmIalsSUILIL L G).

3. meerd el SO Oomh uGHHMbmademul GGHaaibHul Heo 2 flendF
FRIBID BLGHFH QUHDHI.

4. 1944 b suewip HbHH B wIHTH CFevHaHled HML LICUMBBSI.

a. 1wl @B b.2 wBmib 3 G C.1 wBmb 4 W Bid

d.3 Bmib 4 w G e. el Gafwaledeamed
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25.

26.

27.

28.

29.
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In Tamil nadu, how many years did the justice party remain in power

a. 13 years b. 15 years c. 11 years

d. 14 years e. Answer not known

SOIDBTL 1960 HHBBL & 1HHme heni(hdHel UHal uHlsHHH?

a. 13 au@pLmiseit b. 15 eu@mLBisel c. 11 sugpL_miser
d. 14 au@pLBisei e. alenL OFpfuwaledenso

Who was the representative sent by the Justice party to attend the Round
Table Conference?

a. Iyothee Doss b. A.T. Panneer Selvam  c. Maraimalai Adigal

d. M.C. Raja e. Answer not known

b sl duller IFHpHwuns el Gweng LOTHTLIQED &H60bSHI OBTERIL 6UT WITT?
a. 98wnshxk 1T b. AT. ueefT GFeveauld C. LDEDBLDENED SIQH6IT

d. M.C. gmegr e. alenL OFHfuwialedenso

C.N.Annadurai was conferred doctorate by which university?

a. Anna University b. Annamalai university

c. Manipal University d. Bharathiyar university

e. Answer not known

CN. 9owiemgen] SIeITHEhHE 6hd LIOBHNeOHBIDHID  (IPeN6TalT LI L LD
QULDRISIUIG?

a. SIGWIENIT LIGDHMEVEHBPEHLD b. SEHINITIOEN6D LIGDHEM6VHBLPSHLD

C. LDGUOTLITEY LIGD& 606V HIDHLD d. umyHwImT LeLSHEM6VEHHLPEHID

e. alewL GFTwaledenso

If the difference between the compound interest and simple interest on a
certain sum for 2 years at 6% per annum be Rs.9, What is the sum?

a.2000  b.1500 c.2500 d.3500 e. Answer not known

BOrewih  UMIBHBEHHG 6% ey aldHsH0  Selaly, LB Ul
Bmeausefet alHHWTFD 5.9 elelled, DIFeL 6l6laIeTa,|?

a.2000  b.1500 c.2500 d.3500 e el Gxfiwaiedmed

Find the rate of compound interest at which a principal becomes 1.69|

times itself in 2 years.

a. 20% b. 25% c. 30% d. 40% e. Answer not known

QT SlFeoTeId, LB eully (pempuled 2 semihHelled DewHLGuUTeTm 1.69
IDLMIG HBSHI 61660, QI lg AIHHNHD HT6HwISb.

a.20% b. 25% c. 30% d. 40% e. alewL G fwalsvenev




30.

31.

32.

33.

34.

The compound interest on Rs.10,000 for 3 years at 10% per annum is

a. 3,312 b. 3,310 c. 3,300

d. 330 e. Answer not known

g0 Oxmens  @r.10,0006@ 3  eumLmsefled  @p10 ey eldHHsHHe0
L HGWD Fnl (B U1

a. 3,312 b. 3,310 c. 3,300

d. 330 e. alewL G fwalevenev

E.V. Ramasamy was born on
a. September 16, 1879 b. September 17, 1878

c. September 17, 1879 d. October 17, 1879

e. Answer not known
F.Oleu.@Fmogmdl LI

a. Gt wur 16, 1879 b. GgriLbuirl?7, 1878
c. GQari_uir 17, 1879 d. &86Lmuir 17, 1879

e. alewL GFfwealedenso

Who launched the Tamil weekly “Dravida Nadu” in 1942?

a. Periyar E.V. Ramasamy b. C. N. Annadurai

c. M. Karunanidhi d. M.G. Ramachandran

e. Answer not known

1942 oub spemi(y “FHymal BTG 6B SO Uty DHewD DYTDLNGHSHEUT wiiT?
a. QuiilwimT  F.Cen.&Fmogmid b. &.61681. &6u0TGmTTHIGN]T

C. 6TID. &(THENIMH &) d. enb.23.@ymio&FFb S\ yest

e. alewL GFflwealedenso

Who was called the prophet from the south?

a. Kamarjar b. Periyar c. Annadurai
d. Karunanidhi e. Answer not known

Camaled Cahmamu SHTEsHNF e DewPSHSLILIBLGUT wWimT?

a. SILOYTET b. Quifluwirir C. S)|600T6001T FHI6NI]
d. smewiH ) e. alemL O fuialedensv

Arrange the following Newspaper’s and Journals of Thanthai Periyar in
Chronological order.

1. Paguththnrivu 2. Viduthalai 3. Kudiarasu 4. Puratchi
a.4,2,3,1 b.3,4,1,2 c.3,2,4.1
d.2,3,1,4 e. Answer not known

spdbamaBBeT  FHhwd Ouflwrfler OQFuigdHaHTeTsemenub, B FHIDBHENETULD
&M60 (eomUiLy auflensiLbhSHSHIH.
1. UGSV e 2. all(HFHemev 3. @GS 4. Yy &l
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35.

36.

37.

4
2

2,3,1 b.3,4,1,2 c.3,2,4.1
3,1,4 e. alemL O fuwalsdensv

~

a.
d.

~

The “Thirukkural” which Periyar condemned was

a. There cannot be good times or bad times for those who toil to improve
their society

b. Think deeply before plunging into action

c. Learn everything properly and then act according to what you have
learnt

d. She, who worships her husband without worshipping god will bring in
rain at her word

e. Answer not known

QuAlwT HewNgHSH GHB6T 61%H!?

a. ®@lg QFUTTHSle0mev LhHoUD LIQOFUIEH WTeID &(HHH CsBLD

b. ecrewtenlls; siewiled @m0 SHenlbsLleE cewiamiaID 6eiid &10HE

C. 3M& HFLM SHBUMe SBBLIGT HBE DSBGHDH HB

d. Gzuieud GHTOT ST CBHTIPHET CHTIPEGHIDMITET

GuUIGWET) GUUIUD DML
e. alewL OFMuwelsdenew

The place and time of Periyar’s last speech was on
a. 15 - 2 - 1973 Thanjavur Thilagar Thidal

b. 12 - 3 - 1972 Periyar Thidal, Chennai

c. 19 -2 -1975 Madurai Thamukkam grounds

d. 19 - 12 - 1973 Thiyagaraya Nagar, Chennai

e. Answer not known

QuRlwT oeuTHelear @mISHF QFmBouTe) BLbHS ewiGL SL(pb wirg?
a.15.2.1973 seheng HevaT Hi_adev

b.12.3.1972 Ggeener GQulwmt gL eded

€. 19.2.1975 wgimy SH(WpEHHD MIDSHTEID

d. 19.12.1973 Gaeiener HwmasgmuT baifleo

e. alewL GgMwaledenso

The life span of atheist Periyar is

a. 49 years 5 months and 8 days b. 101 years 9 months and 3 days
c. 94 years 3 months and 7 days d. 95 years 9 months and 9 days
e. Answer not known
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38.

39.

40.

41.

SL 6T Bevemev eleiml CFmeiienr GQUIAlWTT uTDbHSH DLemIHBH6NT?
a. 49 QUBLBIGBGT 5 LOTHMIGET 8 [HIL &6

b. 101 eumLBIB6T 9 IDTHBIB6ET 3 BT H6iT

C. 94 GuUBLMG6T 3 DTHMIGGT 7 [BIL &6

d. 95 eu@LBIG6T 9 OTHEIHET 9 BT H6iT

e. alomL G flwailsdenen

The value of Xerox machine depreciates at the rate of 10 % per annum. If
the cost of machine at present is Rs. 1,62,000 then what was the value of
machine before 2 years?

a. Rs. 100000 b. Rs. 150000 c. Rs. 200000

d. Rs. 250000 e. Answer not known

RH BB dBGHSGHD BUWhHFHIdHHear alemev HmihHG 10 FHAIBHD GMOBHBSI
sBBUTE SIbH BubHAHTSHHeT HY dp.  1,62,000616760, 2 ETIHDHEHDHE
el oibs BubSyddler WL ereier?

a. Rs. 100000 b. Rs. 150000 c. Rs. 200000

d. Rs. 250000 e. alenL OFflwaledemnsv

Find the sum on which the compound interest for 3 years at10% per
annum amounts to 1,655.

a. Rs. 2000 b. Rs. 2500 c. Rs. 5000

d. Rs. 5750 e. Answer not known

oibbG 10% aiepsHHed 3 UMIBGBEHIBTRT dnl B allg 1,655 83 SHHD
CFHTNHMUISH  HT60IH.

a. Rs. 2000 b. Rs. 2500 c. Rs. 5000
d. Rs. 5750 e. alewL Gxfwalsvensv

The difference between simple and compound interest on a certain sum of
money for 2 years at 2% p.a is Rs 1. The sum of money is

a. Rs 2, 000 b.Rs 1, 500 c. Rs 3, 000

d. Rs 2, 500 e. Answer not known

2% otemi®  aullguied 2 aHIBBEHGG @F DAFVEGD DOLHH gl B
A EGID Helal 9esGD Bl B o eten alsHwngid Rs. 1 eefled oiF60

QedH
a. Rs 2, 000 b.Rs 1, 500 c. Rs 3, 000
d. Rs 2, 500 e. alenL OFHfwialedenso

The Publisher of ‘Kudi Arasu” was
a. Nagammai b. E.V.Krishnasamy c. Periyar
d. Thanga Perumal e. Answer not known
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‘GUuoIIg” gLIgeT LSILTETT wimr?
a. [BTSLDENLOWITIT b. #.Geu. &L igeramii C. Gurlwmf
d. smIslIGELIHLOTET e. alewL OFpfuwaledenso

42. Mohenjadaro is situated in the district of

a. Punjab b. Larkhana c. Bavalpur
d. Gujarat e. Answer not known

QTHEHFHTEIT 61hEH LOTAUL L HFH60 2 _6iTend)?

a. UEhaLI b. suité et C. LITGUGVLT
d. ;s e. alenL OFpfuwialebenso

43. Which racial group formed the Indus valley civilisation?

a. Aryan b. Dravidian c. Non-Aryan

d. Pre-Aryan e. Answer not known

abd Dbl LD Fhgioeal BEraflasHdlener o (Heurssluig?

a. yflwi b. HgmalLf c. oyflwim SleveUTHTT
d. whmzdw ofluir e. alewL Gxfwalsvensv

44.  Which of the following statements about Harappa are false?
(i) The walls of Harappa were not strengthened
(ii) Tectonic disturbance caused the ruin
(iii) Short — headed Armenoid skulls were found
(iv) Harappa disappeared by about 1750 B.C.

a. (
b. (
C.
e.
i

ii.
iii.
1V.

o an o

12 | Page

i) and (ii) true (iii) and (iv) false

i) is true (ii), (iii) and (iv) are false

(i) is false (ii), (iii) and (iv) are true

d. (i), (ii) and (iii) are false (iv) is true

Answer not known

&6 CETGHSILLBeTen aByiuT UBBILW FaBBIseied 618 HeUBTEISHI?

aBIUILITAN6T FieUTH6T aIleNLOUIBBENE.

OL&SLTNS GMBILIGHETTEL BHEHTD DIHeBBSI.

Flw emevedwiemLuwl fTfelul 6wl BH6T HewlBLIGSSLILIL BH6Terng.
amyTiuTs &.up. 1750-6@b L1IBG DipleBng

(i) wppd (i) &M (i) wspw (1v) seuml

(i) &M (ii), (iii)) wspw (iv) seup

(i) seum (ii), (iil)) wBpd (iv) &l

(i), (ii) wmpw (i) seum (iv) &M

alewL O fluaiedensv
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45.

46.

47.

48.

In the Kesavananda Bharati Case, the Supreme Court declared that

i. the preamble to the constitution of India is not a part of the
constitution.

ii. the preamble to the constitution of India is a source of power and a
source of limitation and prohibition.

iii. the preamble is an integral part of the Indian constitution.

a.ionly b. iii only c.iand ii

d. ii and iii e. Answer not known

Cxpgaumerhd UMISH 6UPHFHD o FFHFHI0EIBLD eUPESUW HTUN6T FTITOFLOTHSD

BPHBMIL FmBmIBened 61&l/ eTeneu Filwimerene?

1. @bFHw  opfweemoligF  FLLSHET  (WPpSeUd]  SieleurSlulevenLoliLF

FLLSHIG @(h SIMIBLOGV6V.
1. @phaHw SITFWIGUEMLOLILF gL L SFleur (LPSHE|M], DT FH B SHH 6o

CaTHBmleuTWITSe|LD TFH BT HMHH &L BUUBSHSHID eugLbLIm@&
9 L LULLSTSHAD 2 (HUTHBLILILL .

11, (pSHeyed] eIl SbFHwl SITFWCLeMIDLIL]  FLL HEH6T  Q(HBISM6IHS
LGS WITGLD.

a. 1wl (B b. iii ol @b C. 1 LoBmId ii

d. ii @b iii e. alenL O fuialedenso

Who said that the preamble of the constitution is "the constitutional
political horoscope of the constitution?

a. KM.Munshi b. Dr. B.R. Ambedkar c. Mahatma Gandhi
d. Jawaharlal Nehru e. Answer not known

SIFFWevemIOLIL]  (PSLILDT 6L “DIFFlweusmolilest SFdluied @MTHHD’  6lend
Saplweu wimir?

a. Gm.6lh. (peiTarg) b. Dr. B.R. &ubBugasit C. LD&HTHIOT HMHI)

d. 23euamitevmed Gm(H e. alewL Gafwaisvenev

In which year did the preamble of the Indian constitution was amended?

a. 1956 b. 1966 c. 1976

d. 1980 e. Answer not known

b LW DbHHW SIFFwevemolilen (WHULDT SHihGHBHD CFwiri’ L g)?
a. 1956 b. 1966 c. 1976

d. 1980 e. alenL O fuialedensv

Find the compound interest on Rs. 16,000 at 20% per annum for 9 months,
compounded quarterly

a. Rs. 2522 b. Rs. 2220 c. Rs. 2252
d. Rs. 2225 e. Answer not known
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49.

50.
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h.160005F auibdbd 20% FHIBHD QB ey eaiHHH 9 1OTH
STLHHM@E, STELTMIBHE @([H (DB HISHB (BHAUSHT DIQLILIHLUT6D 6T6le6Ta]|
LB aully SHlenL &H@GWb?

a. Rs. 2522 b. Rs. 2220 c. Rs. 2252
d. Rs. 2225 e. alenL  Oxflwalevemsv

In how many years Rs. 1,00,000 will become Rs. 1,33,100 at compound
interest rate of 10% per annum.

a.1 b.1.5 c.2 d.3 e. Answer not known
ashpmen  opemipsenev 5.1,00,000 & OHTMS ewiIhEG 10 FHiHD
aaiB gnl (B el lguiev ¢m.1,33,100 gysb?

a. 1 b.1.5 c.2 d.3 e. Answer not known

If the deposited amount is Rs. 5,000, the rate of Compound Interest is 12 %
per annum and compound interest is calculated every half year, then the
total amount after one year is

a. Rs. 5,648 b. Rs. 5,618 c. Rs. 5,678
d. Rs. 5, 668 e. Answer not known

@l B auly aiHlD QeuihohE 12% @B aihdhde0 % OWI(HdHGH @ (LPeOB
SHISHBIL_LILUBLD 6Tedled ¢H.5,000 CFaSHUILLL 6l @h aUBLID HPHHI CLoTHS
OHTMSH

a. Rs. 5,648 b. Rs. 5,618 c. Rs. 5,678

d. Rs. 5, 668 e. alewL Gxfwalsvensv
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3

4

5

6

7

8

10

B

B

D

A

B

D

12

13

14

15

16

17

18

19

20

A

C

C

A

B

B

22

23

24

25

26

27

28

29

30

D

B

A

B

B

C

32

33

34

35

36

37

38

39

40

AR >R P o oR-

B

B

D

D

C

C

41

42

43

44

45

46

47

48

49

50

C

C

B

A

C

A
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